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QUESTION 1

You have recently purchased a new wireless router. You would like to configure a name for your wireless network so
that you can easily identify it when scanning available wireless networks.

Which term describes this wireless network device name?
A. Default gateway

B. Wireless access point (AP)

C. Access Point Identifier (API)

D. Service Set Identifier (SSID)

Correct Answer: D

QUESTION 2

Configuring a wireless network involves several steps. Which of the following is a task that should be performed to
configure and connect to a wireless network?

A. Configure a certificate authority and configure the trust settings.

B. Configure the wireless AP\\'s SSID, encryption level and shared key.
C. Connect your computer to the same network hub as the wireless AP.
D. Connect your computer to the same network switch as the wireless AP.

Correct Answer: B

QUESTION 3

Which of the following is generally a component of a BYOD policy?
A. Scope of control

B. Insurance on devices

C. Maintenance provision

D. Device replacement or upgrade

Correct Answer: A

QUESTION 4

Which of the following is a drawback to using Wired Equivalent Privacy (WEP)?

1D0-61C Practice Test | 1D0-61C Study Guide | 1D0-61C Braindumps 2/3


https://www.pass2lead.com/1d0-61c.html
https://www.pass2lead.com/1d0-61c.html
https://www.pass2lead.com/1d0-61c.html

P 2L d https://lwww.pass2lead.com/1d0-61c.html
aSS ea 2024 Latest pass2lead 1D0-61C PDF and VCE dumps Download

—— https://Pass2Lead.com

A. Wireless network overhead is excessive.

B. Symmetric-key encryption is susceptible to cracking.

C. The number of devices that can communicate using WEP is limited.

D. Encryption and decryption speeds are slower compared to other protocols.

Correct Answer: B

QUESTION 5

Wireless networks are subject to more security issues than standard wired networks. Which wireless security protocol
can prevent unauthorized devices from connecting to the wireless network?

A. WPA2
B. RSA
C. AES
D. DES

Correct Answer: A
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